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BUSINESS MATHEMATICS AND STATISTICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries I mark each : 1x8= 8
Q. No. 2 carries 2 marks each L 2x5= 10
Q. No. 3 carries 3 marks each L - 3x5= 15
Q. Nos. 4-10 carry 5 marks each g 5x7 = 35
Q. Nos. 11-14 carry 8 marks each ; 8x4 = 32

| Total = 100
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1. Answer the following as directed : 1x8=8
e AR ot Ted fora
(@) 1 mile = yards."
( Fill in the blank )
1 9i%F = TR |

(e of% #R 4T )

(b) Which is greater?
6:110r 7:17

IO T8 2
6:11@x7:17

(c) Area of a rhombus is
( Fill in the blank )

(A& SR o[ F)

I[R 9OR I 25 |

(d) Write True or False :
] (|} SPTe) ol

log, m =log, mxlog, b

(e) What are the coordinates of the origin in coordinate

geometry?
TS TRy 5 @ gmie 0

(f) A sample survey is less expensive than a census survey.
( Write True or False )

b1 2AfSrrof FARFT Foopef 1T RSl H R[R = |
( 371 A =Py T )

(g) What do you mean by primary data?
effie oy Fforcer & =12

(h) Define classification.

IR AR foran |
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2. Answer the following questions : 2x5=10
o PP Bed fae
(@) If x:5:8=2:y:4, then find the value of x and y.
Mx:5:8=2:y:4, (5@ xAF yI I Rfa 3111

(b) Find the distance between the points (3, —-5) and
(-2, 6)

(3, — 5) I (-2, 6) g 7or @Y Mg 30

(c) Express 0-27 in the form P
' q

0.27 3 £ wrers o |
q

(d) If the length and breadth of a rectangle are 4 cm and
6 cm respectively, then find its perimeter.

T B SerTdd MY 9 2% @ 4 cm 9F 6 cm T, (93
g <R Refg 101

(e) Simplify :
RMEEIS S |

xm+2n . x3m—8n

x5m—6n

3. Answer the following questions : 3x5=15
oY 2PpTRd T fop

(a) If x:y=23:2, then find the value of (4x-2y): (x+y).
;W x:y=3:2, @ @x—2y): (x +y) I T Rfg Fa0)
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Or / 7131
Divide & 1,260 between A, B and Cin the ratio % ! -é— : % .
1,260 53F A, BE#F camé:é— :éwﬂm@mWI
A table with marked price ¥ 1,600 is sold for ¥ 1,280,
after allowing a certain discount. Find the rate of

discount.
1,600 b fol® R B3 93 @=R fi 1,280 o R&F <
T’ | @A T R )

The base of an isosceles triangle is 12 m and its
perimeter is 32 m. Find its area.

9B TR, frged S 12 m WF WA ARR 32 m. TR
Refg 111

Solve (NIYH F41) :
v5x-1-5=-x

Prove that +/2 is an irrational number.
oI 391 (T V2 GO eIk Fe |

Or / «&1

Solve (91 F491) :
|5x]| >3

4. Answer either (a) or (b) :
(a) =31 (b) 3 T= fran -

(a)

/147

A bicycle seller allows 25% discount on marked price
and makes a profit of 20%. What was the marked price
of the bicycle on which he gains ¥ 30?

G BRI (I FRe WY ¢S 25% (@R e REN

IR ficg F 20% e IR 1 PR v Ry 391 T (o8

30 %31 &S IR |
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(b) Water flows from a pipe of 7 cm in diameter at the rate

of 1 litre per second. How many litres of water would
flow out per hour?

GoE 7 cm IR (FRA %I oS (Fes 1 B R o[ &2
T | 93 9O YA AN 47 232

5. Answer either (a) or (b) : - 5
(a) T3 (b) ] Tex T .

(a) A man sells his TV at a loss of 10%. If he sells it for
¥ 1,500 more, he would have gained 5%. Find the cost
price of the TV. v

GG PR 10% TS 969 TR RE IR 1 o8
1,500 531 @fee @fbEagen, 38 5% e «ecaeed | 5.85.051
oo v ey 391 1

(b) The area of a circular garden is 22176 m?. How long

a man will take to go round it 10 times at a speed
of 2:2 km per hour?

G JOIFR IR I T'A 22176 m?. 1% 2-2 FR. @I
10 = e o A R s «nfaiq 2

6. Discuss the scope of statistics in business and commerce. 5

G -TMerS /{1 feewe SJeaeie Racy sieeno-1 <1 |
Or / T&1

What are the limitations of statistics?
offoi Ry Armerez & &2

7. If the point C(-4, 1) divides the line segment joining the
points A(2, —2) and B in the ratio 3: 5, then find the
point B. S
MW C(-4,1) RYOBR 3:5 Seee A2, —2) WF B &I
@e? Roe 33, @ B RT3 T1iF Sfesa |
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8. If ¥a +¥b +¥c =0, then show that (a+ b+c)® =27abe. 5
i Ya + b +¥c =0, o cryeq @ (a+ b+ ¢)® =27abe.

9. The diameter of a garden roller which is 80 cm long is
1-40 m. If it takes 600 complete revolutions to level a
playground, find the cost of levelling the ground at
60 paise per square metre. 5

80 cm T¥e W#F 1-40 m IFRME Wb @ERAE (IF-1[RT 6 I
IRAA 600 IF CIRT = | oS Iof ABRS 60 %51 w3 ¢ Ffcer o
(OIS I9E o 436 ey 3991 1

Or / 51

Prove that log;g2 lies between % and l

3

a1 ¥4l Cﬂlog102, %W%?WWI

10. Discuss the merits of sampling over census method. 5

oS orafSq o SISl AT JRUPHR A 341 |
Or / 71T

Discuss the different sources of collecting secondary data.

e R oy WA FRI o[ RSy Sorm=a Ry sieemw=n 741 |

11. (@) Evaluate : 4
R = :
\/6+\/6+1/6+ +es tO o0
(b) Distinguish between questionnaire and schedule. 4
2T HIF PPN WS AN o1 |
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Define the following :
Tors AR vige for

(i) Hemisphere
ST

(i) Marked price
[RIRCR )

12. (@) Define the following :
wore fraaRs e ford

(i) Sample and population
AR S TR
(i) Tabulation of data

SR (DI

(b) Explain the different parts of a table.

4= (BFETR RfSa SiorTz mam 4 |

2+2=4

13. () Draw a percentage bar diagram to represent the

following data :

oY OIPTRS T FRALA G HORA IF G BRI I

Items of expenditure Expenditure (in ¥)
IR TSP HE (7)
Food (3m) 150
Clothing (¥3) 125
Rent (ST91) - 25
Light and fuel (311%5 &< 22) 10
Others (S1+) 190

(b) What are the uses of diagrams and graphs?

b7 e -3 IRFER T2
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14. Prepare a frequency distribution table from the following

data taking the class intervals as 21-30, 31-40, ---, etc. :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30

29, 42, 32, 40, 34, 31, 35, 37, 52, 44

39, 45, 37, 33, 51, 53, 52, 46, 43, 47

41, 26, 52, 48, 25, 34, 37, 33, 36, 27

54, 36, 41, 33, 23, 39, 28, 44, 45, 38
Also find (a) the frequency density of each class and
(b) percentage frequency between 31-40. 4+2+2=8

©TH OYR °R1 9 IR[ES Romm ool o5e 391 1 @ WEIePrR
21-30, 3140, .- % 4{I '] :

21, 20, 55, 49, 48, 46, 36, 54, 42, 30

29, 42, 32, 40, 34, 31, 35, 37, 52, 44

39, 45, 37, 33, 51, 53, 52, 46, 43, 47

41, 26, 52, 48, 25, 34, 37, 33, 36, 27

54, 36, 41, 33, 23, 39, 28, 44, 45, 38

(o) &S A IR W5 ey F9 e (b) 31-40F s AF
JRQROR *oPq] TR Tforey |

Or / 7137

Write a note on the main points involved in the
construction of frequency distribution tables. Also define
class interval and class limits. 8

THIRSN ST Wiferl eige Fedice I02[ (/1 T REwzs ev/w «b)
CBrT o0 1 wtoice ot e W iR S A s |

%* %k *
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